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1 Implement Key Board
1.1 Press 0/1/2/3/4/5/6/7/8/9 and show them in the seven-segment display.
When a new number is pressed, the previous number is refreshed and
over written.
1.2 Press a/s/m (addition/subtraction/multiplication) and show them in the
seven-segment display as your own defined A/S/M pattern. When you

press “Enter”, refresh (turn off) the seven-segment display.

Design Specification

Input : clk,rst;
Output : ssd_ctl[3:0],seg[7:0];
Inout - PS2_DATA,PS2_CLK;
*V17 $24E] rst o & rst==0 BF & &4 rst AYEAGE

Design Implementation

Logic function :
1. top:
[t top module » EFHEARIEIIE A /[N moudule HY -
Fi%Et key_down[last_change] && key valid E551{H » [Kf key_valid &— =%
NEUR N A EEARVERSE - KL 28 key_down(last_change] {52 £ AT AT
last_change EE&AH#HZE N5 » H1& % mux i BCD(Binary-Coded Decimal)
HIE = -
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. freq_div :

I A BRAERY module - #i5 LAY clk_ctl B /F scan_ctl B clk » EAERNMR S, -

. KeyboardDecoder :
72 {[E module 21T H A& E R (E -
® key_down B ESEA LA WAL N2 last_change EFoRZ L T
RHYE S key_valid FEAZSH% N RBURGHNYE T 7 & A —(E2E0 (PR
k)
* PS2_DATA,PS2_CLK &[S/ inout port

. scan_ctl :

It module & T BT RES [FIRF A E72HY module ©
® ssd_ctl_en(from freq_div /Y clk_ctl[2:0])8Y FH = AR~ (&R B8 KB
TR — R AR~ — TR » R FRE—EARR N A 2R R F
1hz 1 ssd_ctl_en FEA[FIHFEUR R {EEYEEE

. ssd:

& bed By 4'd0: segs = 8'b00000011; //+ ESRE RERFE 70"
& bed By 4'dl:segs = 8'b10011111; //ESRE REREE 1"
& bed By 4'd2: segs = 8'b00100101; //+ ESRE RERFE 2"
‘& bed Fy 4'd3:segs =8'b00001101; //tTERE I REsEI 3"
‘& bed Fy 4'd4: segs = 8'b10011001; // T ERE I REsEI 4"
‘& bed Fy 4'd5:segs = 8'b01001001; [/t EREE ResE 5"
‘& bed fy 4'd6: segs = 8'b01000001; [/t EREE I REsE 6"
‘& bed fy 4'd7:segs =8'b00011111; [/t ERE U ResEIN"7”
‘& bed Fy 4'd8: segs = 8'b00000001; [/t EREE ~EsEI 8"
‘& bed £y 4'd9: segs = 8'b00001001; //tTEREE REsE 9"
& bed Fy 4'd10:5egs=8'b00010001;  // - EREERESEEURN A" [/1E VNG



‘& bed By 4'd11:segs=8'b01001001;  // BRI RESEN"S” [/1E 'S $#
‘& bed By 4'd12:5egs=8'b01100001;  //TEREHRESEERE” [/ N M
‘& bed By 4'd13:segs=8'011111111;  // T ERBE/RESEEUR” " //3 N ENTER'§##//

ST

/H=

default: segs =8'11111111; [/ R RE e R
Result
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Discussion

1. Fi%ET key_down[last_change] && key_valid E:E{E » [K fy key_valid 22— &%
NEURC N A S E A AVERSR Rl Z At key_down([last_change] {52 5 AT HEr
last_change =& A #4% N2 {8 2 mux §Eapk BCD(Binary-Coded Decimal)
HIZ = -

2. FRAERRIEFZENTER" S E A 22 L B Ras Y )7 =2 (it 58 &N SR 3
PERY T2 H -

3. HR'MESEAE CEEDR FEUT » LIRS & MV E 5 -

2 Implement a single digit decimal adder using the key board as the input and
display the results on the 14-segment display (The first two digit are the
addend/augend, and the last two digits are the sum)..

digitl digit2 clk rst

R2 T1 W5 V17

*digitl ~ digit2 53 Al S5 —(EEAI S —(EEEE R4 {EAY enable 15k
Design Specification

Input : rst,clk;
Output : ssd_ctl[3:0],seg[7:0];
Inout : PS2_DATA,PS2_CLK;

block diagram :

Design Implementation

Logic function :
1. top:
It top module » EFHZEARIEIHAH /[N moudule HY -




2. freq_div :
I B B55EAY module » #ig LAY clk_ctl B {E scan_ctl AY clk » HAEZRMR S, o

3. KeyboardDecoder :
72 {[E module 21T H A& E R (E -
key_down BRI —(EFEA LA #d% 125 last_change EFong e N A1y
18 5 key_valid 7Efz8eE N EBURFRE T T & @ £ —(E5k (Hm L) -
* PS2_DATA,PS2_CLK &[S/E inout port

4. read :

Itk module & FAREEHE key_board it A{E - Wik BCD HYFZ -
® EUEMY  EHE—FEHE > #2EH key_down[last_change] && key valid Y
J7CHER last_change Ry {a[{EAHAE T 5 -

5. mode :

It module J& I ACHIETZ5 " I "or " JB"or"3” > FEAEHY add SRR R IF Ry
adder [y enable - HJERESBHIGHEITINA -

6. adder :
It module FIAREITHIADIRE » AHHE—{EZKE mode FEAER enable Fi5E - /F
Ry HIERE S T T HIERIAREE
® :Gif{check,value}=inl+in2 > i HE4HY check 1 enable H{H % H|Er &
SHHEABPES -
® E{inl+in2}>=4'd16 EF &7 overflow HYETZEL » T FIF HEM "2
& overflow [BIPEERT » FR10 4'd6 Il AT AR LR -




. scan_ctl :

't module Fi# -t BN SR [FIRF TR A [F 7079 module ©

ssd_ctl_en(from freq_1hz A9 clk_ct![2:0])dY = R B~ (&R [E Y8 - Rt
EYBUREs — R AR — TR » RIPE TR — (B M N [ E] 1hz 1Y
ssd_ctl_en A FEIRFEUR I [EEHYFEE -

. ssd:

& bed 5 4'd0: segs = 8'b00000011; //+EREE R EREE 0"

‘& bed B 4'dl:segs=8'b10011111; // - EREE REREER"1”

& bed f 4'd2: segs = 8'b00100101; //EREE R EREE"2”

& bed f 4'd3: segs = 8'b00001101; //EREE R EREE 3"

= bed By 4'd4: segs = 8'010011001; //+ERRE R EREE A"

& bed By 4'd5: segs = 8'b01001001; //+ ESRE REREE RS

& bed By 4'd6: segs = 8'b01000001; //+ ESRE SRR 6"

& bed By 4'd7: segs = 8'b00011111; //+ ESRE REREE 7"

& bed By 4'd8: segs = 8'b00000001; //+ ESRE SRR 8"

& bed By 4'd9: segs = 8'b00001001; //+ ESRE RERFE 9"

‘& bed Fy 4'd10:5egs=8'b00010001;  //TEREEREREENA [[5E N §iE

& bed By 4'd11:segs=8'001001001;  //TERBE/RESEEIR"S” /4% 'S $#

‘& bed By 4'd12:5egs=8'b01100001;  // T ERBH RESEENE” //HE N MR

% bed B 4'd13:segs=8'b11111111;  // - EERE RS8R 7 /3 T ENTER'§8//
B2

default: segs =8'11111111; VIR e -



Result

(digitl ~ digit2 73 Fil/E 55— (BB — (EHEHEE S 45 EAY enable 55T
R2 : digitl : T1: digit2)
1. [E—(digitl==1; digit2==0) » SRyNAEHEH —(EBdHH({E

[ —(digit1==0 : digit2==1) > FRI/RASETSH —(EHdHI{H

B = EAE R FHEITIA

7 - 78+9 = 17”
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Discussion
adder
E{in1+in2}>=4'd16 IF & A overflow HYIFE L » FEAH "M SR ER
overflow {EIZZEAENE » FEh0 4'd6 7 v] DAL HERTRE -
%=t key_down(last_change] && key_valid Z=:E{H ° [K Ay key_valid B—&E¥7
BB N A G EAAVESE - LS8 key_down(last_change] ff{5 & Al HEh
last_change & A #HZ N £ » H1& % mux Y BCD(Binary-Coded Decimal)
HIZ = -

Implement a two-digit decimal adder/subtractor/multiplier using the
right-hand-side keyboard (inside the red block). You don’t need to show all
inputs and outputs at the same time in the 7-segment display. You just need to
show inputs when they are pressed and show the results after “Enter” is

pressed.
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Design Specification

Input : clk,rst;

Output : ssd_ctl[3:0],seg[7:0],state[1:0];
Inout : PS2_DATA,PS2_CLK;

*V17 P28 rst 0 B rst==0 I &4 rst AYERGE




Design Implementation

Logic function :
1. top:

H:[: top module %Fq%;ﬁﬂ?ﬂu;ﬁ\:fﬂzlj\ moudule E],\j °

2. freq_div :
It R BRAEAY module - B HIAY clk_ctl ‘E1F scan_ctl fY clk » FARS S -

3. KeyboardDecoder :
2 {[E module T %1 H A& B AR (E -
® key_down ZFRTA—(EFEA )G H WL N2 last_change ZFRRIEHETE T
RHYE 5 key_valid FEFZ8#HE N RBURGANYE T 7 & A —(E2E8 (PR
E)e

4. decoder :
It module /2 FACEEUE key_board #if AfH » If#EREE BCD AU -
® EUEM T EBSE—FEHE > #E key_down[last_change] && key valid Y
J7 2B last_change By {a{EATHHE 5 »



® I KeyboradDecoder £ {E = module Y HHAIYIER » {# KeyboradDecoder
s/ 20 B L PRAT 2 (E module PN R RIEE A AR HIAYERSR B IRAS 5 -
® [IigHIAY released ‘1T read module AEE{EH FH -
4'd10 FoR"+" 5 4'd11 FToRr"-" s 4'd12 TR 5 4'd10 FHoR"ENTER"

5. read:

It module 2 FH AR 38 BN IE B R ©

® FiRIfELEEGT VS —(E state BVGRA-ERR ] HVTERERE R iz I &
MHRZEE » DLUSEES key_valid EEAR ZHIZERZ (T state BB -

® {{'Valuel >'Value2 FEEIE]"+","-"or"*" IS AT A S U
i 'Value2->"ANSWER 2 & s HUE"ENTER"HYSHIR 157 7 & D) #A
£ ANSWER > 'Valuel 2 & 3 HUE" B HU AR SRR A & U

® state=='Valuel FEHHE —(HE] ; state=="Value2 FE<:EHE —{#HE]
state=="ANSWER F R~ iHE4E 5 -

6. adder :

Iﬂ: module &AM AL I NTE - A& add(fif—(r8HINTE) -
enable &1/ read module 431 add EH5E o




7. subtractor :
It module 2 FHAR M A7 8HYRGE - A& sub(fii—Ar BHTRGE) -
® min ZE"(BUNYHE) - BIRHVEY) " EAEN" A" fE BN e FEUR -
® enable £ read module FEHZR sub 5E -

8. multiplier :
It module & FHAR M X 8HIR% - N & add(8— L BT E) LU mul(fii—
L EHIERE) -
® N rEHTRARE 4 (E—rBoREEENE - R E——WuE i -
R A &6 add DL Kz mul module
® enable £ read module FEHARAY mul 5k -

9. add :

Itk module 2 FH AR — i B2 -

® [ enable {E £ mux FYHET{E - A]LAHETE enable==1 {YE 4 & #HE >
HERIFE AR & THIE -
‘& increase +inl +in2 #8i% 4'd15 2 overflow HYEAL » (R HE—(E
check {58 H A HIETE 54 overflow HYEE4E » #5H overflow MYE4: » (H
(S R ARV E 0| 4'd6(&8ERf 28 (iaE S A EA (A -

10. sub :
It module J2 FH AR —fir B2
® [fif] enable /E fy mux HYHIER{E - AJLUHETE enable==1 V& T 4 &HE >
R AR E T HvE -



® FEEARE 1 ex. X-Y=-Z,Y>X > Z=10-Y +X

11. mul :
[t module f& AR fi—fr 8y
® (i enable {E 5 mux AYHETE > FTLAHELE enable==1 1YE N A &EH >
R IR E v -

12. display :
[t module &AL 7E scan_ctl /Y input :in3, in2,in1,in0 °
® en Zf¢ read module B KRAY enter 5% » HAY S B B RAVELES
BEMHIEGEETREEAE -
® =i BE{add,sub,mul}{E Ry mux EHEE S AR AT S B R A B o fd A TR 45

13. scan_ctl :
Itk module J25% T EZRUR &5 [F] F B [E I8 module -
® ssd_ctl_en(from freq_div Y clk_ctI[2:0])iy FH & B8 M A [5] Y E [R A
TEEIURES — X AR — TR - R AR — (B A P e )
1hz HY ssd_ctl_en A [FIRF R (EEHYEEE -

14. ssd :



‘& bed £ 4'd0: segs = 8'b00000011; // T EXEE ~AREE 70"

& bed B 4'dl:segs = 8'b10011111; //HERHE REREE N1

& bed By 4'd2: segs = 8'b00100101; // - EREEREREE 2"

& bed fy 4'd3: segs = 8'b00001101; //HEREEREREE 3"

‘& bed B 4'd4: segs = 8'b10011001; // - EREE REREE R4

& bed fy 4'd5: segs = 8'b01001001; // - EREE SR EE S

& bed fy 4'd6: segs = 8'b01000001; //+ERFE R EREETL"6”

‘& bed B 4'd7:segs = 8'b00011111; // - EREE REREER"T”

& bed y 4'd8: segs = 8'b00000001; //+ELEEREREE 8"

& bed Fy 4'd9: segs = 8'b00001001; //+EREE R EREE 9"

‘& bed £y 4'd10:segs=8'b00010001; // T EREE RESEE A /3 N
% bed B 4'd11:5egs=8'b01001001;  //ERRERSREER7S” /3 'S $
% bed B 4'd12:5egs=8'b01100001;  //-CERRERSSEERE” J/HE R M S
& bed Fy4'd13:segs=8'b11111111;  // B R as UR" " //1% T ENTER'$#//

N=9) w4
/BT
default: segs = 8'11111111; [/ e R

Result (state=="Value1(2’b01)FE ~i8HEE —EH] ; state=="Value2(2’b10)FE g
HUZE {885 state=="ANSWER(2'b11)F/REUEF LR < )
1. E—~EVUEAFHETT"19 + 59 = 78"HEIR (%) -
I [El—%& state==2'b01 - F] DUHSE—(E%Hm E -
. [E a3 "+ " state &1L 2'b01 #EHA S 2'b10 -
. [B=& state==2'b10 > ] DLEFEE — (i 1E -
V. [EVOE S T ENTER "SRG DR HEE AR -
&




Seroll
Lock

@

Home
[

End
L]

- B T E ) URAEHETT"87 - 98 = -21"HY MR () -

II.
V.

[ 715 state==2'b01 > o] DLEFEE — (& #la(E -

& 7S E T4 T - § state &1 2'b01 #E{fA % 2'b10 o
B state==2'b10 » "] DUAFES —(EEHR{E -
e/ UE 2 N "ENTER" S & SR L R 455 -




3. BB — @ EHEIT"52 - 49 = 03"HYIEFE(RUE) -
I EJUER T -"8 state F1E 2'b01 #EL 4 2'b10 -
. El&E4 " ENTER "§ state ©7¢ 2'b10 A ZE 2'b11 -
. [E+—E# T ENTER"SE S BN SRS R -

&L &+ & +—

ol = =
R A




4. BT ~EF TR AETT"98 * 69 = 6762"HYIEIZ(GRIE) ©
. B & N state &1L 2'b01 EHA S 2'b10 o
. [B-F="&%# T"ENTER "§ state &7 2'b10 FEHAZE 2'b11 -
. [E-PUE N ENTER" S e R R4S -
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Discussion
. decoder
2 KeyboradDecoder f1{E3Z1[# module 7Y HHJFER » {5 KeyboradDecoder 52
#0 (8 A PRAEZE(E module N » ARy Rl A AR RITHYERSTE M A IEASE 5 -
. read

FERE St Eea T VIR g —([ state HIRIFERRE] - HAVIERERE R LR A HE

% DU key_valid FEAEZZHYZEN(H state PSR -
. add
& increase +inl +in2 #8318 4'd15 B5 & 75 overflow HYFEA: - R %93 —{[ check
R AR HET & overflow HYZEAE » #5774 overflow FYEA » IR HIZK
HIME RN _E 4'd6(5SEREEAAM R4S SR E A TEAHIE -
. sub
FEEAE @ ex. X-Y=-Z,Y>X 2 Z=10-Y+X ¢



4. Implement the “Caps” control in the keyboard. When you press A-Z and a-z in
the keyboard, the ASCII code of the pressed key (letter) is shown on 7-bit LEDs.
4.1 Press “Caps Lock” key to change the status of capital/lower case on the

1.

keyboard. Use a led to indicate the status of capital/lowercase in the keyboard

and show the ASSCII code of the pressed key one 7-bit LEDS.

4.2 Implement the combinational keys. When you press “Shift” and the letter

keys at the same time. The 7-bit LEDs will show the ASCII code of the

uppercase/lowercase of the pressed letter when the “Caps Lock” is at the

lowercase/uppercase status.

m—empn X EdE U RQTBOBERROURSFaMOROER -

Dec Hx Oct Char Dec Hx Oct Html Chr [Dec Hx Oct Html Chr| Dec Hx Oct Html Chr
0 0 000 NUL {null) 32 20 040 s#32; 3pace| 64 40 100 «#64; @ | 96 60 140 &#96;
1 1 001 30H (start of heading) 33 21 041 «#33; ! 65 41 101 «#65; A | 97 61 141 &«#37;
2 2 002 5TX (start of text) 34 22 042 «#34; 7 66 42 102 «#66; B | 98 62 142 &#98;
3 3 003 ETX (end of text) 35 23 043 &#35; # 67 43 103 &#67; C | 99 63 143 &#99;
4 4 004 EOT {end of transmission) 36 24 044 &§36; § 68 44 104 «#658; D |100 64 144 &#100;
5 5 005 ENQ (enquiry) 37 25 045 &#37; % 69 45 105 &#69: E |101 65 145 &#101:
6 6 006 ACK (acknowledge) 38 26 046 <#38; & 70 46 106 «#70; F |102 66 146 &#102;
7 7 007 BEL ibell) 39 27 047 «§39; ' 71 47 107 «#71; G |103 67 147 &#103;
§ 8 010 BS (backspace) 40 23 050 &#40; ( 72 48 110 &«#72; H (104 68 150 &«#104;
9 9 011 TAE (horizontal tab) 4l 29 051 «#41; ) 73 49 111 «#73; I 105 69 151 &#105;
10 A 012 LF (NL line feed, new line)| 42 2A 052 &§42; 7 74 4k 112 «#74; J |106 6A 152 &#106;
11 B 013 ¥T (vertical tab) 43 2ZB 053 &#43; + 75 4B 113 «#75; K (107 6B 153 &#107;
12 € 0l4 FF (NP form feed, new page)| 44 2C 054 «#44; , 76 4C 114 &#76; L |108 6C 154 &#108;
13 D 015 CR ({carriage return) 45 2D 055 s#45; - 77 4D 115 «#77; M |109 6D 155 &«#109;
14 E 016 50 (shift out) 46 2E 056 &§46; . 78 4E 116 «#78; N |110 6E 156 &#110;
15 F 017 31 (shift in) 47 2F 057 «#47; / 79 4F 117 «#79; 0 |111 6F 157 &#lll;
16 10 020 DLE {(data link escape) 48 30 060 s#48; 0 80 50 120 «#80; P |112 70 160 &#112;
17 11 0Z1 DCl {device control 1) 49 31 061 &#49; 1 81 51 121 «#81; 0 |113 71 161 &#113;
18 12 022 DCZ (device control 2) 50 32 062 «#50; 2 82 52 122 «#82; R |114 72 162 &#lld;
19 13 023 DC3 (device control 3) 51 33 063 &#51; 3 83 53 123 «#83; 5 115 73 163 &#l15;
20 14 024 DC4 (device control 4) 52 34 064 «#52; 4 84 54 124 «#584; T |116 74 164 &#ll6;
2l 15 025 NAK (negative acknowledge) 53 35 065 &#53; 5 85 55 125 «#85; U |117 75 165 &#117;
22 16 026 5VN (synchronous idle) 54 36 066 &#54; 6 86 56 126 &«#86; V |118 76 166 &#1l8;
23 17 027 ETE (end of trans. block) 55 37 067 «#55; 7 87 57 127 «#87; W |119 77 167 &#119;
24 18 030 CAN (cancel) 56 38 070 &#56; 8 88 58 130 «#88; X (120 78 170 &#120;
25 19 031 EM (end of medium) 57 39 071 «#57; 9 89 59 131 «#89; ¥ |121 79 171 &fl2l;
26 li 032 3UE (substitute) 58 3A 072 «#58; : 90 SA 132 «#90; Z |122 7A 172 &#l22;
27 1B 033 ESC (escape) 59 3B 073 «#39; . 91 5B 133 «#91; [ |123 7B 173 &#l23;
28 1C 034 F5 (file separator) 60 3C 074 «#60; < 9z 5C 134 «#52: \ |124 7C 174 &#l2d:
29 1D 035 GS (group separator) 61 3D 075 &#61; = 93 5D 135 &#33; ] |125 7D 175 &#125;
30 1E 036 RS (record separator) 62 3E 076 &#62; > 94 SE 136 «#94; * |126 7E 176 &#l26;
31 1F 037 U3 (unit separator) 63 3F 077 «f63; 2 95 SF 137 «#95; 127 7F 177 &#127;

Design Specification

Input  clk,rst;
Output : ssd_ctl[3:0],seg[7:0], caps,shift, ASCII[7:0];
Inout : PS2_DATA,PS2_CLK; //V17 ¥ rst » & rst==0 HF &4 rst (YEHEE

Design Implementation

Logic function :

top -
[it module » FEFTEFIEAUE A/ moudule Y -
[it module 2L/ decoder FH{ZKHY caps 1 shift ZRIFHUAZHR KR EVINE

o

X F-EEHY ASCII code ©

caps==shift BF »

caps!=shift B >

BN/ NE LS RERY ASCI code o

SIII;'I:B: www.LookupTables .com

BEN KB UL 7 RE ASCIl code ©

DEL

IR e

~



2. decoder :

It module /2 FHAREEHUE key_board i AfE - I##EY BCD FYEZ -

® EUEMY 7 EHE—FEHE > #2H key_down[last_change] && key valid 3
Ji=CHIET last_change FyfafEAY#EAE T2

® i=3EtDL key_down[9’b0_0101_1000]{E A4 caps {ELHY DFF HY clke iSfE o]
PAREETE | "caps” S L& I TIFE -

® i [Ncaps"§iF o caps<="caps Rl A] S AEAIREE ©

® shift Efi—(E &% T shift” #1F shift==1 > JZ$%HF shift==0 -

3. KeyboardDecoder :
(i module F:- 221y H AR AT -
® key_down EFR A EIEAIZHAHAE X last_change R IZ L
EHME  key_valid TEfz i iHE T A BURBHIRYE T 7 & 2 £ (8208 (5w
k)




Result (caps==1 IFEURARE ; caps==0 FFELT/NE) (F2 [ "shift” §#15F shift==1)
1. [E— : caps==1,shift==0 0% » &% N"f"#> &~ 01000110(F) -
2. B : caps==1,shift==1 §F » F#F N"f"§#> 88~ 01100110(f) -
3. [B = : caps==0,shift==0 0¥ » &% N"d”§#->&H ~ 01100100(D) °
4. [EPU : caps==0,shift==1 % » ‘Z$% ["d”§##-> &~ 01000100(d) -

Discussion

1. decoder
=24 D key_down[9’b0_0101_1000]{E Ey44 caps {H Y DFF Y clke iSAEH] LUfE
EE T "caps” PRI ELE AT TFE -

2. HINKRESEUINE LI ASCH code HRMIIFFAHZE 8'd32(/NE>K5T) » IRILAEM4S
ASCII code (B 7] DUE A ZE (@R - A HIEEEFEEAR/NEHY ASCIl code H#3fi#
il o

Conclusion :

BRI lab SHVERVEEHEHTEY » TCHATHGE key_board HIVE T AFEE T
FFRRATE Y R TG E S T HERAIRIARHE - key_valid EREES DL &2 4 25 (& N
ZER » BEHE A IRHEE B A AL O FTRR - A TR EGEH BhBE LAY B3 - BETR
BB BB ER E B HEUIREHE state IVIRIEER R[5 2 7772 » Y510 HEEH
key_valid F1 key_down FJREZE £ AVFER > EHITREVE -



